ﬁzo,m Title

2/8/202 ._F

2.34  Each line in the following table gives information about a \%\A\O o) A

process of a closed system, Every entry has the same energy
units. Fill in the blank spaces in the table.
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248 A gas undergoes a thermodynamic cycle consisting of %

ﬁ\ = \ @ S\p\ three processes:

w Process 1-2: compression with pV = constant, from p; = 1
< :“\. N\V«J w\.wb..SHI_MS:CQNHO.M.:NQNiQ.Ho — h
\ W Process 2-3: constant pressure to V3 = V|
—

< - Q.\%/ Process 3-1: rczmnﬁomcn.n. U — U, w\mhc KkJ
Dl There are no significant changes in kinetic or potential energy. V
Q Determine the heat transfer and work for Process 2-3. in kl.
Is this a power cycle or a refrigeration nvdﬂﬂl\l <
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A classroom that normally contains 40 people is to air conditioned with window air conditioning units of

5 kW capacity. A person at rest Mmu, be assumed to dissipate heat rate of about 360 kJ/hr. There are about
e

10 light bulbs in the classroom, each with a rating of about 100W. The rate of heat transfer to the class
room through the walls and windows is estimated to be 13,000 kJ/hr. If the room is to maintained at a

—
constant temperature of 21°C, determine the number of air conditioning units required?
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